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	PLAYER
	POSITION
	HEIGHT
	INCHES
	WEIGHT

	Bradley Beal
	G
	6’5”
	77
	207

	DeJuan Blair
	C-F
	6’7”
	79
	270

	Rasual Butler
	F
	6’7”
	79
	215

	Drew Gooden
	F
	6’10”
	82
	250

	Marcin Gortat
	C
	6’11”
	83
	240

	Kris Humphries
	F
	6’9”
	81
	235

	Damion James
	F
	6’7”
	79
	225

	Andre Miller
	G
	6’2”
	74
	200

	Nene
	F-C
	6’11”
	83
	250

	Paul Pierce
	F-G
	6’7”
	79
	235

	Otto Porter
	F
	6’8”
	80
	198

	Glen Rice
	G-F
	6’6”
	78
	206

	Kevin Seraphin
	C
	6’10”
	82
	278

	Xavier Silas
	G
	6’5”
	77
	198

	Garrett Temple
	G
	6’6”
	78
	195

	John Wall
	G
	6’4”
	76
	195

	Martell Webster
	F-G
	6’7”
	79
	230


*Data courtesy of http://www.nba.com/wizards/roster
1. Convert all the heights in the table from feet and inches to inches.  Record the conversion in the table below.  See table above.
2. Describe how you arrived at the above results.
3. Identify the independent variable and dependent variable.   Explain your reasoning.

a. Independent Variable - height
b. Dependent Variable - weight
4. Does the data set represent a relation that is a function?  Explain your reasoning.

5. Plot the data.

[image: image3.png]Warts 20142015 st





6. Is the relation increasing or decreasing?  Explain.
7. a.  Select two points (79, 270) and (80, 198) and determine the equation of the line of best fit.


b. Describe what the slope means in the context of the problem.

c. Describe what the y-intercept means in the context of the problem.

8. Use the slope from question 7 to determine whether a basketball player’s weight increases or decreases for every inch that his height increases.


9. Use your equation from part 7 to estimate the weight of a player who is 6’6’’ tall. Show your work.

10. Use the graphing calculator to determine the linear regression equation.


11. Discuss any similarities and differences between the equations from part 7 and 11.  Discuss your conclusion.

12. Use the equations from part 11 to determine the height of a player who weighs 350 pounds.  Does this answer make sense?  Explain.

Sample Response





I multiplied the number of feet by 12 since 1 feet = 12 inches and added the remaining inches.  See table above.











Sample Response


It is quite clear which is the dependent variable and which is the independent variable. It makes sense to say that weight depends on height; it does not make sense to say that height depends on weight. If I say, “If I were taller, I would weigh more” people will nod. If I say, “If I weighed more, I would be taller” people will giggle.








Sample Response





The data represents a relation but not a function.  Bradley Beal and Xavier Silas have the same height but different weight. If you make a scatter plot, it will not pass the vertical line test.





Sample Response





According to the graph, the relation is increasing. As the height increases, so does the weight.





Answers may vary.  Sample Response:


y=-72x+5958





Answers may vary.  Sample Response:





A basketball player weight decreases 72 pounds for per inch.





Answers may vary.  Sample Response:





The y-intercepts represent the weight of a player who is 0 inches tall.








Answers may vary.  Sample Response:





Since the slope from part 7 is negative, a basketball player’s weight decreases for every inch that his height increases.








y = -72x + 5958





y = -72(78) + 5958





y = 342 pounds





y = 7.52x -370.41








Answers may vary.  








y = 7.52x -370.41





350 = 7.52x -370.41





720.41= 7.52x 





95 inches = x





7’11”





This answer does make since since the tallest person in the world is 8’4”.
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